#HEX—TK1 (A 4B

SHM4FE9AHD
ALSATERKE (REWME) KEARERREE (ER)
FRKEFR 9:00
KERBRER EFRHFKE BKHF EK )
= X | [B | KB |A E| pH LAY BE | ZE |EY| & v | " &
B b2 3=k I O Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 58] 27.4 24.9 5.7 8.12
2 = 26.00 23.2 7.3  8.03
3 & 26.5 23.2 19.2 7.92
4 i 27.00 23.5 36.5| 7.85
5 & 29.3 24.0 18.5 7. 86
6 i 30.0f 25.0 12.0] 7.93
7 58] 26.0 24.2 1.1 7.89 54.2 69.4 139 6.2 0.41] <0.02
8 [55] 24.01 22.8 0.9 7.90
9 £ 26.3 21.4] 619.0 7.98
10 i 26.5| 22.6 90.2| 7.82
11 & 25.8 22.5 b8.2 1.78
12 i 27.3] 22.8 33.2| 1.82
13 & 27.0 23.6 24.2 7.89
14 i 29.00 24.7 16.6| 7.92
15 £ 26. 4 24.6 16.5 7.94
16 i 27.00 24.0 13.5]  7.90
17 £ 27.0 24.1 11.8 7.90
18 = 25.01 22.6 10.3| 7.96
19 58] 28.0 23.2 19.2 1.87
20 [55] 26.00 22.5 4.1 7.82|  49.1 67.0 535 3.6/ 13.45 0.39
21 £ 20.9 20.0[ 429.2 1.76
22 = 23.01 20.2{ 172.5| 1.71
23 58] 21.5 18.7 86. 5 1.82
24 [55] 23.5| 19.2( 100.0] 7.78
25 £ 23.5 19.8| 423.0 7.68
26 i 24.01 19.9| 292.0] 7.76
27 & 26.0 20.4f 130.2 71.79
28 i 24.2  20.4 99.5| 7.79
29 £ 23.0 19.7 99.6 7. 81
30 i 23.00 19.7 85. 1 7.83
31
1y 25.7 | 22.2 98.2 | 7.86 | 51.7| 68.2 337 49| 6.93| 0.20
1) 30.0 25.0 | 619.0 8.12 54.2 69.4 535 6.2 | 13.45 0.39
=IE 20.9 | 18.7 0.9 | 7.68 | 49.1 67.0 139 3.6 | 0.4 <0.02




HREX—TIK1 (A 4R

TMAF9AN

ALSATERKE (REEME) KEARGERHEE (EF)

FEKEERT 9:00

KEBHARBRKER (BER%KE Bkt GRK) )
B XE | [B | KB |&A E| pH [FILAY BE | %% |EY| &% vy | ® &
= BEW | 1 * Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 [55] 27.4 24.0 1.9 7.66

2 £ 26.0 23.8 2.3 7.65

3 i 26.5 23.4 2.4 7.54

4 & 27.0 22.8 1.6 7.50

5 i 29.3 23.3 2.3 7.48

6 i 30.0 24.2 2.5 17.61

7 [55] 26.0 24.2 2.0 7.58] 49.4/ 69.6 133 6.1 0.09| <0.02

8 [55] 24.0 23.2 2.0/ 7.58

9 = 26.3 22.3 1.6 7.44

10 i 26.5 22.0 2.0 7.39

11 i 25.8 22.5 1.9 7.50

12 i 27.3 22.4 200 7.4

13 i 27.0 22.8 2.4/ 1.50

14 i 29.0 23.5 2.5 7.52

15 = 26.4 24.0 2.3 7.59

16 i 27.0 23.8 2.1 7.58

17 = 27.0 23.6 1.9/ 7.61

18 £ 25.0 23.0 2.3 17.61

19 [55] 28.0 23.2 2.4 17.61

20 [55] 26.0 23.0 3.5\ 7.47| 43.9] 66.8 142 8.0/ 0.11] <0.02

21 = 20.9 21.2 1.5 7.21

22 £ 23.0 19.8 1.7 7.37

23 [55] 21.5 19.5 1.9 7.39

24 [55] 23.5 19.7 1.6 7.43

25 =) 23.5 19.9 1.3 7.1

26 i 24.0 20.4 2.1 7.26

217 i 26.0 20.3 2.3] 1.40

28 i 24.2 20.2 2.3 7.53

29 =) 23.0 20.0 2.1 7.45

30 i 23.0 19.8 2.00 7.54

31
Ty 25.7 | 22.2 2.1 7.48 | 46.7 | 68.2 138 7.1 0.10 | <0.02
== 30.0 | 24.2 3.5 7.66 | 49.4 | 69.6 142 8.0 0.1 <0. 02
=IE 20.9 [ 19.5 1.3 7.11 43.9 | 66.8 133 6.1 0.09 | <0.02




